HUR(L) &% — hE#EATEIL

{EBN A R LS TR IT SRR CHELIC
O AEEIEE |
+
|
i i
i
i
i
(D\
D ESEEES
== £ = (mm) @25 232 \ 340 \ @50 263
1EEIZ K mm wEH
LEz=Rint EIEIE 2 Z LR (1SO - VG 68)
REEN kgf/cm’ (kPa) 100 (10000)
{EREENEE kgf/cm’ (kPa) 5~ 70 (500 ~ 7000)
EEEITIE mm 9 11 13
TE1T2 mm 13 15 17
HIREME e
T AR 90%+2"
hEE 75 A A8 (HAMRL)-L ; A8 (BAAA)-R
CEER
FEAg @25 932 240 @50 263
EE kg 13 1.7 2 3.2 5.1
C FIETEMEA R

D - (

)

| EmRBER |

R: RRAHEEERN
(BERA)

90 AIZENEHEAE
%05 45 60" AEHRERS

1Ti20R FETTIZ
EEBTTIETEIE

@25 - 13 mm
@32 - 15 mm
@40 - 15 mm
@50 - 17 mm
@63 - 17 mm

6-13.38




HUR(L) % — hEEAHTREIL
SMEERRT CHELIC.

© HUR(L) 9225 ~ 963

[O] #EEREKX HUR(L)
‘ SCR(L)
) - d [$ /;\@ - He#s
: FeiHH
MEER [ &= 4 HER
[ i Wk
& i FeisH
‘ K ‘ 4-oL P 4-0L HGR(L)
J K FE
BT
J
G1 %I;R(L)
58 TEH
L N ‘ G2 (REREE)
} HBR(L)
: ! s
! 3 TIA1TT 3 WA TR
1 ' X ‘ ﬁ ‘ ° (R )
| ! = =
B ] ‘ 1 2 ] g9 HFR(L)
Y o — R
g I o 85 T
\r - E2 ‘ - < (AR
< b
® ) 1
2 | o < ‘ o < HFK
= — ; e
o @ ‘ Ol \ EELNNYIRS) TFEEL
4 1
N11 R (z;1 s
N1 j—ﬁ ! e
21 ‘ ‘ 3%
\ ] -
i #E1: 10 i - O
‘ ‘ HLK
S,_| BBEIRRERT EE el
HUR(L)
@ e p— = DB EimEREh 5 s
HE | mE | merR | BEAE %ﬁﬁu N) BRRE -
(mm) (mm) (mm) LI mm? | (3.5MPa) G1 G2
925 @18 9 13 491 /237 830 74 140 HUK
@32 @20 1 15 804 / 490 1720 81 160 e
ERERHEL
340 @22.4 1 15 1257 / 863 3020 86 160
@50 @28 13 17 1963 / 1347 4710 96 180 HN[]
263 @35 13 17 3117 / 2155 7540 114 200 e
s
b ST A A1 A2 | A3 B G D1 D2 D3 D4 E1 E2 HS[]
@25 22 79 101 | (124) | 120 76 27 15 27 15 |19 | M10x15 | @8 %@g}&;ﬁﬂ
932 26 89 15 | (140) | 1372 | 85 30 17 31 17 |022.2| M10x15 | @8 R
@40 26 94 120 | (148) | 1422 | 90 30 18 31 17 |022.2| M10x1.5 | @10 HCE
@50 30 104 | 134 | (166) | 159.4 | 100 34 20 37 19 |[025.4 | M12x1.75 | @12 s
263 30 109 | 139 | (175) | 1708 | 105 34 23 48 24 |[031.8| M16x2.0 | @15 HEEEL
HCS
5 & F H 1 J K L M N | N1 | N2 | N3 | O P R ] T W
S
@25 10 9 | @46 | 52 | 40 |@68| PT1/8 | 50 | 8 | 17 | 46 | 95 | 25 | @15 |@18 13 -
@32 10 | 10 | @50 | 56 | 44 |@68| PT1/8 | 55 | 10 | 19 | 52 | 11.1 | 29 | @17 |@20 14 HCQ
940 10 | 10 | @54 | 63 | 48 |@9 | PT1/8 | 60 | 12 | 19 | 57 | 11.1 | 31 | @19 |@22.4| 15 b
350 12 | 12 | @66 | 72 | 57 |@9 | PT1/4 | 65 | 15 | 215 | 63.5| 127 | 38 | @21 |@28 16 (HABFERE)
263 15 | 15 | @80 | 8 | 70 |@11 | PT1/4 | 75 | 17 | 22 | 68 | 159 | 48 | @27 |@35 18

6-13.39



HUR(L) &% — hEESS A TFEEL ( ERERIEEMIAESR )
SMEREIRR CHELIC.

O HUR(L) _ mczy @il D] 38 ER AR A5t

® mgza HUR(L) -MC ]

A / t A ’ .
[T (7 e —
% i ] i
SO IEEEE | SESEE 3 5 « -
— = L -t
[ ® ! ;O\L i
= N\ $\ﬁ§% A =\ & 1 %/
M1 4-@L © M1 4-@L
z
K s P
J K
J || Min5
G1
F N ‘ ‘ G2
e
\\ | (@]
' s 10 & = ‘ 1lpd L g
\ - | ° g
| | |
E1 | |1 % : \ PR
,,,,,,,, | | [N 0 A
! E2 ‘ 2
| d g | _
i < < | <
i o < | o <
el s bl s
1 T I
o O-Ring R 4>u O-Ring
2l ‘ ‘ i o]} ‘
i s 10 i b
| e 1 U+
S | BiBmMiRL R
- . p— L SEERE AR =
Hm | wmE | WeER | BEGE e ) EHRE
(mm) (mm) (mm) o mm? | (3.5MPa) G1 G2
@25 218 9 13 491/237 830 74 140
32 @20 1" 15 804/490 1720 81 160
40 @224 11 15 1257/863 3020 86 160
250 228 13 17 1963/1347 4710 96 180
263 @35 13 17 3117/2155 7540 114 200
H{I@E | ST | A | A1 | A2 | A3 | B c1 | b1 | D2 | D3 | D4 E1 |E2| E3
@25 22 79 101 124 120 76 22 15 27 15 19 M10x1.5 | @8 |M14x1.5
232 26 89 115 140 137.2 85 25 17 31 17 1222 |M10x1.5 | @8 |M16x1.5
40 26 94 120 148 142.2 90 25 18 31 17 [122.2 |M10x1.5 | @10 | M18x1.5
250 30 104 134 166 159.4 100 30 20 37 19 [125.4 | M12x1.75| @12 | M20x1.5
63 30 109 139 175 170.8 105 30 23 48 24 [131.8 | M16x2.0 | @15 | M26%x1.5
5T 1 F | G1 | G2 | H I J|K|L| M | N | O|ORing| P| R | s T
@25 10 74 140 9 246 52 40 6.8 19 50 9.5 P7 25 @15 | 318 13
232 10 81 160 10 @50 56 44 26.8 21 55] 111 P7 29 @17 | @20 14
40 10 86 160 10 @54 63 48 | @9 23 60 111 P9 31 219 | @22.4 15
250 12 96 180 12 66 72 57 a9 28 65 12.7 P9 38 @21 | @28 16
63 15 114 200 15 @80 88 70 a1 32 75 15.9 P9 48 @27 | B35 18

6-13.40





